1112 EEREFSKFEFRE-BER

fF S
09:00 g
09:30 HHA=Z=E
09:50 DEMO RUN
E— ]
SECIM (H588) SECIM (H588)
BR | LEEBRE | KiE BB ®& Bt BR |LEERE| Ka Xy e -
1 KEFHT ElEE 1 tERE D MR
1 : 21 :
10:00 2 e MR 11:00 2 KEBT BlEE
1 fcERe H#EZ 1 KEZFP iz
2 10:02 22 11:02
002 REET = 02 T mRE
1 RigET =HIEF 1
3 10:04 23 11:04
00 2 0 2 RiEET =FF
EISECIM (Ft44E) EECIM (Ft4#E)
BR | LEEBRE | KiE =) ®& Bt BR |LERE| Ka BEfiI %5 (-
4 1006 1 7J<EEP WTEHEU 2 1106 1 E*Fﬁi%qﬂ KiahF
2 I o KihF 2 JKEE A4
1 10 ¢ 5] o PRiE 4 1 KD Fahk
5 10: 25 11:
0:08 2 RIS Fahtk 08 2 1] 2% [&H] o PR SE 4
SZKIW (F48E) SEKIW (H4HE)
BR | LEERE | KiE =) ®& Bt BR | LERE| Ka BEfiI e (-
1 KEFHT SR 1 EEST RIPE
10:1 2 11:1
6 0:10 2 EHRETD S5 6 0 2 KEBT BV
1 KEFHT 21=2 1 RICE=E SR
7 10:12 27 11:12
0 2 F{CEE SR 2 KEBT FER
B ZK1IW (F£4#E) BEZZKIW (3£4#2)
BR | LEEBRE | KiE B “"2 Bt BR |CERE| KE BEfiI e (=
3 1014 1 EJZIJJ,%EP(EP%E) %ﬂ%%ﬁ 28 1114 1 : %Z’E#‘ 2233
2 REREF 225F0R 2 IS (B ER) ESi
9 1016 1 EJZI?J%EP(EP%E) = 29 1116 1 ‘ %Z’Eﬁ] fjé’%ff
2 RIS %% 2 IS (B ER) =Hm
B53EKIM (Z£58) SEKIM (H£588)
BR | LEEBRE | KiE B “"2 Bt BR |ERE| KE BEfiI e (=
1 KEFHT wEh 1 RigET =HIEF
10 10:1 30 11:1
018 2 RIEET HIEF 8 2 KEFT ek
1 itiEse FER 1 KEZGF FrohEE
11 10:2 31 11:2
0:20 2 REFF FrohE 0 2 tERE D FER
12 | 1022 % {Ech AXE 32 | 1122 X _ —
2 2 tiEfe SBKE
EEEKIM (F£oE) EIEEK1IM (F95E)
BR | LEERE | K& ==Ky “2 Bt BR |LEERE| KE E==Xivs s 5
13 1024 1 j(;‘,%qﬂ B e 33 1124 1 E?it¢ Fahk
2 RIS Fahtk 2 RIZE] RiRE
1 KZE T RET 1 EHE$ =R
14 10:2 34 11:2
0:26 2 RERE$ Eps 6 2 KZE T REE
= ++ = 7S
15 1028 1 EJZI?J:aq](qJ‘u’E) %%un 35 1128 1 ‘ 7£¥5P =ER
2 JKEE S =2ER 2 RIS o (B ER) R &5
1 IhiaE Be gl &5 1 1 22 5 op EER
16 10: 36 11:
0:30 2 1] 22 B o BEEIS 30 2 IhTEE o fREE
1 KD =t =123 1
17 10:32 37 11:32
03 2 3 2 KD i=giEl2
SXZCIW (H3fE) SXCIW (H35E)
BR | LEERE | KE =) “2 Bt BR |LEERE| KE E==Xivs s 5
1 KEBET FER 1 KEST BIKE
18 10:34 38 11:34
2 REZFP BIKE 2 KEFHT FER
1 R ESR SR 1
19 : 39 :
10:36 2 11:36 2 RCEE SR
B CIW (HE158) B % C1W (Z£14E)
BR | LEERE | KE ==Xy “"Z ek BR |LEERE| KE ==X\ S et
1 R#E+ AT
20 : 40 :
10:38 2 11:38 KD E=25




